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CPABHUTEJIbHBIV AHAJIV3
10 VCIEBAEMOCTU Y ABVIKEHWUIO
OBYYATOIIMXCSI
(3A 1 Y1 2 UETBEPTM 2022 - 2023 VUEBHOTO T'OJIA)

b3 =
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(@) q = ¢ [ l‘:’; :
= H  BbIGbIAO 30 MpubGsiro 30 % Q He ycnesaioT YcnesailoT HO «5»
4YeTBepTb YeTBepThb >7 B TOM YUCAE
lkAaacc

M'roro 1 (/\COLLI) H/Q H/a H/a H/a
| WUroro: | 1 (ACOLIJ) H/a H/a H/a H/Q

2KAQCC

M'roro 53/2 2 (ACOLL) 55/2 H/Q H/Q H/Q H/a
MToro 55/2 3 (/\COLLI) 1 (ACOLL) 54/1 H/Q H/Q H/a H/a

3KAAQCC

MToro 49/4 1 (ACOLL) 48/4 43/1 1 (ACOLL)
| Utoro: [RPLIZ! 1 (ACOLL) 1 (/\COLLI) 48/4 46/4 2 (ANCOLW) 27/1 1 (/\COLLI)

cS Ha

HAa4YaAo
IOT HA

«4» u «5»

Yyawmx
YcneBa

4kAaacc

44/4 1 (/\COLIJ) 1 (/\COLIJ) 43/5 41/5 2 (/\COLIJ) 4 (ACOLL)
43/5 43/5 43/5 4 (ACOLL)

Ha4aAbHOe ob6uee o6pasoBaHue

195/10 196/11  193/11 - 3 (ACOLW) - 40- 4 (ACOL) -
UTtoro: 2 (ANCOLL) 4 (ACOLL) 98,5% 1,.5% 20,4% 2%

m 196/11 194/10  89/9 - 2 (ACOL) - 45/1- 5 (ACOLL) -
ATOro S (ACOII] 2(ACOIIN A5 Q9 19 23 N7 N SA




T

YcneBaloT HA «5»
(B TOM 4ucae)

: Bbi6GbIAO 30 Npu6biAC 30
YyeTBepThb yeTBepThb

He ycnesaioT

X _©
b <
39
o (o}
4 T

Yyawuxc
1 Ha
YcneBaio
7
YyeTBEpPTb
YcneBaio
T HA (4»

yeTBe
T3

41/6 3 (ACOLL) 1 (ACOLL) 39/6 38/6 1 (ACOLL) 24/1 5 ACOLL
Utoro: [N - - 39/6 38/6 1 (ACOLL) 22 4 (3ACOLL
+1ACOLL)

UToro: 40 - 1 (ACOLL) 41 38 3 (ACOLL) 15 3 (2ACOLL+1TOOLL)

UToro: 41 1 (ACOLL) 2 (ACOLL) 42 41 1 (ACOLL) 16 5 (4ACOLI+1TOOLL)
- 1 (ACOLL) 51/3 44/3 7 (SACOLL+2TOOLI) 20 6 (ACOLL)
: - 51/3 43/3 8 (6ACOLLU+2TOOL)  17/1 4 (ACOLL)
57/6 - - 57/6 55/6  2(1ACOLLU+1ACOLL) 14 4 (ACOLL)
57/6 1 (ACOLL) 1 (ACOLL) 57/6 56/6 1 (ACOLL) 18/3 4 (ACOLL)
51/9 - - 51/9 47/9 4(ACOLL) 15 3 (ACOLL)
51/9 1 (ACOLL) - 51/8 47/8 4(ACOLL) 20/1 4 (ACOLL)

OcHoBHOe obLLee o6pasoBaHue

88-
Utoro: [WEFIVL! S 3 239/24  222/24 - 17-71% 36.8%/ 21 -8,8%
92,9% 4 —
16.7%
225/23 - 93-
239/24 3 (ACOLL) 3 240/23  93.8% 15- 6,3% 38,8%/ 21 -8,8%
HUToro: (2ACOLLU+1ACOLL 5-

) 21,7%



YcneBawoT Ha
«5n
B TOM YUCAE

BbiGbIAO 30 Mpu6biAo 3a
YyeTBEPTH YyeTBEPTH

He ycnesaioT

YyeTBepTu

o o
x @
x I
g&

O
Iz

YyeTBEPThb

Yyawiuxcs
HA HAYAAO
YyeTBEepTH
YcnesaioT

YcneBaloT
Ha «4» u «5»

H/d H/a
UToro: - - 16 14 2 8 3
- (1ACOLL+1ACO (TACOLL+2A
LLI) CoL)
11 kAacc
| WUrtoro: | - - 9 H/a H/a H/a H/a
| Wroro: | - - 9 9 - 6 -
CpeaHee ob6L,ee o6pasoBaHue
| Uroro: | - 1 25 H/a H/a H/a H/a
- - 25 25 2 14 3
- (IACOLL+1ACO (1ACOLLI+2A
LLI) COL)
UToro no o6LL,e06pa30BATEAbHBIM YHPEXAEHUIM PAUOHA:
93 - - 93 92— 1-1,1% 22— -
98,9% 23,7%
93 5 1 94 93— 1 1,1% 29 — 2-
98,9% 30,9% 2,1%
354/34 5 8 356/35 339/35 — 17 - 106-29.8%  27-7,6%
95,2% 4.8% /4-11,4%
356/35 8 4 354/33 338/33 — 16 - 119-337%  26-7.3%
95,5% 4,5% /7 -21,2%
1 - - 11 9— 2-182% 4- 1-91%
81,8% 36,4%
11 - - 11 9— 2-182% 4- 1-91%
81,8% 36,4%
- 458/34 5 8 460/35 440/35 — 20 - 132-28,7% 27 -
95,7% 4,3% /4 -11,4% 5.9%
- 460/35 8 5 459/33 440/33 - 19 - 152-33,1% 29 —
95,9% 41% /7 —21,2% 6,3%



-0

o
<
O
T
O
I

YcneBa
qe‘rseg‘r

He ycnesaioT YcneBarT Ha «5»
B TOM YUCAE

0T 3
YyeTBepT

TkAaacc
ACOLU 9 9 H/Q H/Q H/Q
AcCol 40 1 - 39 H/Q H/Q H/C H/a
1 - - 1 H/Q H/Q H/C H/Q
HUToro: 50 1(ACOLL) 49 H/a H/a H/a
2KkAQCC
ACOLL 9 - - 9 H/Q H/Q H/Q
ACOoll 45/2 3 1 44/1 H/Q H/Q H/Q H/Q
1 - - 1 H/Q H/Q H/C H/Q

HUToro: 55/2 3 (ACOL) 1 (ACOLL) 54/1 H/a H/a H/a H/a
3 KAacc
9 9 9 - 4 -
AcCoLW 38/4 1 1 38/4 36/4 2: 22/1 1
- MponHuHa KapuHa —
mar.;
- lpuropses
Anekcen —
MQaT.,pyC.93.,00A.93.,
QHFA.93.,0KP.
| TOOW [N : : 1 1 : 1 :
48/4 1 (ACOLW) 1 (ACOLW) 48/4 46/4 2 (ACOLL) 271 1 (ACOLL)
4 KAAccC

ACOLL [BENTI) - - 10 10 - 4 -
IXeleIT  33/5 - - 33/5 33/5 - 14 4
43/5 - - 43/5 43/5 - 18 4 (ACOLL)

HavyaAbHoOe ob6uLee o6pa3oBaHue
194/10  89/9 - 2 (A\COL) - 45/1- 5 (ACOLL) -
5 (ACOLL) 2 (ACOLL) 45,9% 1% 23.2% 2,6%

196/11



YcneBaiT HA «5»
(B TOM 4Yncae)

BbI6GbIAO 3 Mpu6biAoC 30 He ycnesaioT

YeTBEpPTb YeTBEpPTb

[
2 a
g 2
ZF
S o
Co

YyeTBEepT
«dn u «5»

7 - - 7 7 - 5 1
31/6 - - 31/6 30/6 1: - KotoB MBAH - pycC.93.,MAT.,HEM. 17 8
1 - - 1 1 - - -

- - 39/6 38/6 1 (ACOLL) 22 4 (3ACOLL
+1ACOLL)
_ 1 2 31 30 1: - Mm1p3aames UBAH — AUT-pA. 13 4
| _Toow | 1 - - 1 1 - 1 1
ur 1 (ACOLL) 2 (ACOLL) 42 41 1 (ACOLL) 16
(4ACOLL+1TOOLL)

AColl - - 6 6 - 1 -
ACoOL 42/3 - - 42/3 36/3 6é: 15/1 4
- y>koBa AQpbS - AAT.;FTEOM.;
- Aeket KOAd - TeOM.;OAT.;UCT.
- baxxeHoB Hukuta
aAr;130;reom. MHAO(H/a)
- MBaHOBO CHEXAHHA — PYCCK.43.
- Cnmnposckui Cepren -
QAr.;reom.;130
- Ko3aos Hukura - U130

8 - - 3 1 2: - EropoB MAbs- pycC.93.;HEM 3. 1 -
- EropoB H1KkuTa- pycC.43.,pOA.AUT.
51/3 - - 51/3 43/3 8 (6ACOLL+2TOOLL) 171 4 (ACOLL)
AcColl 16 - 1 17 17 - 5 -
ACOLlW 40/6 1 - 39/6 38/6 1: - AOAS AAEKCOHADP — PYC.93. 13/3 4
[ Toow [ - - 1 1 : : -
| Wroro: | 57/6 1 (ACOLL) 1 (ACOLL) 57/6 56/6 1 (ACOLL) 18/3 4 (ACOLL)
AcColl 7 - - 7 7 - 2 -
ACOL 42/9 1 - 42/8 38/8 4: - TNlepyyH AAEKCAHAP — AMT-PAl.; 17/1 4

- Toery6osa CaLLA - QAT ;TEOM.;
- HYypUHQ AAEHQA - QAT.TEOM.;
- CMMPHOB MuLLIA — pycC.93.
- - 2 2 - 1 -
1 (ACOLW) 51/8 47/8 4(ACoOL) 4 (ACOLW)
OCHOBHoOe ob6LLee 06pa3oBaH1e
295/23 — Q3-

N
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n X -0

= BbIGbIAO 3C1 Mpubbino 3a
YyeTBEepTb
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He ycnesaioT YcneBaioT HA 5»
B TOM YUCAE

YcneBa

qe‘rseg‘r
IOTM3

YyeTBEpT

10 kAacc

7 6 1 — AAEKCOHAPOB
Hukura -
MATEMATUKA
- - - 9 8 1 —Kapnosa Cawia—- 4 2
AUT.,TEOM. XM,

- - - 16 14 2(1ACOLU+IACOL) 8 3

(TACOLLU+2ACOLL)

11 kAacc
(ACOW : : 33 - 2 :
"Acou | : : 66 : 4 :
Wiroro: : : o 9 - 6 :
CpeaHee obuiee o6pasoBaHme

- - - 25 25 2 (IACOLWU+IACOW) 14 3

(TACOLU+2ACOLL)



YcneBarT HA
()

Bbi6GbIAO 30 Mpu6bIAG 30
YyeTBEPTH YyeTBEPTH

He ycnesatoT

Ha &) n
«5n

=
=
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(=]
=
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>
o
=
B TOM YUCAE

Yyawmxcsa
HOA HOYAAO
YyeTBEpPTH
Yyawmxcs
HA KOHew,
YcnesaiwoT
4yeTBEpTb
YcneBaioT

Acou L - ] 94 93— 1 - 29 - 2-
98,9% 1,1% 309 2,1%
%

I\NGeTITN 356/35 8 4 354/33 338/33 - 16 - 119-  26-7,3%
95,5% 4,5% 33.7%
/7 -
21.2%
11 - - 11 9— 2- 4-  1-91%
81,8% 182%  36,4%
460/35 8 5 459/33 440/33 - 19 - 152- 29 —
95,9% 41% 331%  6,3%
/7 -

21,2%



